Today’s Lecture:
» Atmosphere — the role of water; interactions with land and ocean
» Ocean

Reference

> Peixoto and Oort, Sec. 3.1, 3.2, 3.4, 3.5 (but skip the
discussion of oceans until next week); Ch. 10

» Stewart 2008 (linked from web page), Ch. 3-4, 6-12


http://oceanworld.tamu.edu/resources/ocng_textbook/contents.html

2.4 - Thermodynamics of the moist atmosphere

Why is the presence of water in the atmosphere important2

> Phase changes of water
> Latent heat release — effect on dynamics
» Cloud formation — effect on radiation

» Precipitation and evaporation — coupling to land and ocean



Chemical equilibrium
In an open system with multiple species (air, water, .. .), the internal energy for the system is U = U(S, V, n1,...,nc),
where n is the number of moles of species k, and the combined first and second law is

c

dU=TdS—pdV+ Z e dng,  where = g—u is called the chemical potential. (2.39)
— Mk 1s,v,n,
k=1 s Vo Mistk

Now consider multiple phases () in equilibrium. The extensive variables U, S, V, n are additive, so
U=>"U®, s=3"5@ v=3"v pn =3 (2.40)
© @ © ©

Equilibrium is reached when the total internal energy of the system is minimized, i.e., any small change in the independent
variables §5(®), §v(#) 6n£¢) leads to

su=>" <T(~’)5s@’) — pPsvie) 4 Zui*")ani*’)) >0 subjectto Y65 =35V =3 "6nl?) =0
® k © © ®

(2.41)
In the two-phase case (denoted by ’ and ”’), this requires

(T"=T1)88" = (p" = p) V" + > (w = m) oy >0 (2.42)
k

which can only be satisfied for arbitrary independent 5", 8"/, 61’ if the phases satisfy

7" =T (thermal), p"” = p’ (mechanical), u} = i (chemical equilibrium) (2.43)



Phase transition
Consider what happens if we boil water by adding heat to the system; S and V increase while T and p are constant. We
can therefore calculate the entropy increase as

AS = A—TH or infensively As = ATh = ; (2.44)

Lis the latent heat of the phase change:
ice > liquid latent heat of fusion, L
liquid <+ vapor latent heat of vaporization, L},

ice <+ vapor latent heat of sublimation, L;,

Phase equilibria

Now consider two phases in equilibrium (vapor over ice or vapor over liquid) while heat is being added to the system.
Invoking the intensive form of the Gibbs-Duhem relation (2.52, derived on the next slide) and making use of the phase
equilibrium conditions (2.43) for the two phases (again denoted by ’ and /), we have

§dl —a'dp+du=0 (2.45)
$'dT —a”dp+du=0 (2.4¢)

SdT —a'dp=s"dT — o’ dp (2.47)



Derivation of the Gibbs-Duhem relation
U, S, V, ni are extensive, T, p, 11 are intensive. Therefore, for an arbitrary constant A,

UAS, AV, Anp, ..o ne) = AU(S, V,my, ...y ne)

Denoting the extensive variables by x; and the intensive variables by y; = OU/0x;,

d AU(Ax1, Axg, . ..
Uxi,x2,...) = ﬁU(AX],szyw-):Z%X,‘:Z)ﬁx,‘
! i

i
so that

c
uess,vom,...,n) =TS —pV + Z wgng + additive constant
k=1

Formally,
dU = d(TS) —d(pV) + id(uknk) =TdS+SdT —pdV —Vdp+ i“k dny + i g dpsg
k=1 k=1 k=1
However, (2.51) is only consistent with the combined first and second law (2.39) if
SdT — Vdp + i ngdpg = 0 (Gibbs-Duhem relation),
k=1

that is, the state variables cannot all be independent of each other.

(2.48)

(2.49)

(2.50)

(2.51)

(2.52)



Clausius—Clapeyron equation

(2.47) can be transformed to the Clapeyron equation

@_ s'—s  As  Ah |

— - = _ = __- 2.
dl o’ — o/ A« TA« TAa (2.53)

For the case of water vapor over liquid water or ice, a, 3> ) or aj so that Aa &= avy. The equilibrium pressure p is the
saturation water vapor pressure es; if e > e, water vapor condenses to restore equilibrium, if e < e liquid water
evaporates to restore equilibrium. Substituting for o, using the equation of state for water vapor, we find the
Clausius—Clapeyron equation

dlnes 1

2.54
di ~ RT2 (2.54

Approximating L & const, (2.54) can be integrated:

L 1 1 L T—Ty
— — (= - = ~ — 2.55
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Consequences of the Clausius—Clapeyron equation

Exponential increase of saturation pressure with temperature
(x2 for every 10 K) combined with

High L of water result in efficient latent heat transport in
convection

Ly, > L}, results in lower saturation pressure over
ice than supercooled water
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Convection

Dry adiabatic convection

Consider a parcel of rising air. While the water vapor pressure is below saturation water vapor pressure, adiabatic
expansion cools the parcel according to (2.36, with ¢4 indicating the dry air heat capacity)

cpddInT=RydInp (2.56)
which, upon substitution of hydrostatic equilibrium, yields the dry adiabatic lapse rate

O _ 9 _ const (2.57)

r,=—2"—
d 0z cpy

Saturated adiabatic convection
Once the parcel reaches saturation, further expansion results in condensation of water vapor, which releases latent heat:

T
(cpd + qscpv) dT + Ly, dgs = (Ry + gsRv) — dp, where gs is the mixing ratio (2.5) corresponding to es (2.58)
p

The resulting saturated adiabatic lapse rate, neglecting qscpy < ¢,y and gsRy < Ry, is

6T~ g

M=——— 9
9z " cpg + by (da./d1)

= f(T) # const (2.59)

which is always smaller than the dry adiabatic lapse rate and decreases with increasing temperature.



Thermodynamic variables for saturated atmospheres

Equivalent potential temperature
From the adiabatic energy balance equation (2.58), this time retaining gscpy < Cpd and gsRy < Ry, we see that the

equivalent potential temperature
L
0o = Ogexp <’°’> (2.60)
Cpd T

is conserved in saturated convection.

Static stability
Depending on the environmental lapse rate I', a parcel of air of a certain water vapor mixing ratio will be stable or
unstable against vertical perturbation:

I > Iy unconditionally unstable: the lifted parcel will always be more buoyant than the ambient air
Iy > T > T conditionally unstable depending on lifting condensation level and entrainment

I < T's unconditionally stable: the liffed parcel will always be less buoyant than the ambient air

Static energy
Static energy is the sum of potential and thermal energy, including the latent heat released in the condensation of water
vapor (“static” because it does not include the macroscopic kinetic energy):

h=cT+ gz + L,q (2.61)



2.5 - Exchange processes of the atmosphere with land and ocean
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Boundary layer — the dynamic view
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Viscous transport

z Velocity

RO

Wall

The shear stress in the fluid in the viscous layer is

du
Tzx = —H——

oz

(and similarly for 7z, and v), where the subscripts denote the stress is in
the x direction in the z = const plane. The friction in the x direction is

Fo=——
p
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R e R
p Oz Moz 022
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Ox dy 0z

Viscous friction is due to molecular effects that resist shear in flow. At the
surface, the wind velocity must be zero, while in the free stream, the wind
velocity will have some arbitrary magnitude. Since random motion of air
molecules results in exchange of mass between the low-momentum layers
and the high-momentum layers, resulting in the velocity profile shown on
the left. The macroscopic friction is the result of the molecular-scale
transport of momentum from the free stream into the boundary layer.
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v =0 (1073 m? s7"), so the depth of the viscous layer is < 1 m.

Figures: Stewart 2008, Holton 2004



Turbulent transport
A more efficient method of momentum transport is turbulence. Here the transport is accomplished by small-scale
disturbances (v, v/, w’, 8’) in the mean flow (G, v, W, 8 ). The turbulent motions span greater length scales than molecular
motion and can support deeper boundary layers. For a vertically sheared layer, the turbulent transport terms take the form
u'w’, v/w for the vertical transport of horizontal momentum, 87w’ for the vertical transport of potential temperature (and
thus buoyancy). The transport is against the gradient.

Gradientflux ansatz

Unlike in the case of viscosity, there is no theoretically well founded way to derive v/, v/, w’, 0. The best we can do is
make a reasonable guess and see how well it works. The English expression for this is “ansatz”. In the gradient-flux
ansatz, the turbulent transport is assumed to be proportional to the gradient:

1 ( Tax ) —Tw = k2 and T = —K,,% (2.65)
P Tzy oz 0z

with constant turbulent diffusion coefficients for mass and heat K, and Kj,. This formulation is by analogy fo viscous
friction, but with much larger “viscosity”: Km = © (107! m2 s~1). However, a constant K, and Kj, do not represent the
atmospheric boundary layer well because the turbulent length scale grows with distance from the surface.

Mixing-length approach

The nextbetter refinement is the mixing-length approach, where K, is itself a function of the gradient and a characteristic
length scale for mixing. The surface-atmosphere interaction can then be formulated in terms of coefficients of transfer for
momentum, sensible heat and water vapor (latent heat)

T =—=pCp [W(2)|¥(2), Fsn = —pcpCh [V(2)| {0(2) — 0(0)}, E=—pCw [¥(2)[{q(z) —q(0)} (2.66)



Boundary layer — the cloud-process view
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2.6 — Appendix: Why does dry air have c, = 3RT?2

Recall the partition function (Zustandssumme) of the canonical ensemble from statistical mechanics, which is the sum over
all microstates weighted by the (Boltzmann) probability of occupying each microstate:

1
Z= H/eXP(—ﬁH(puqf))dpi dai, A=z (2.67)

where g; are the canonical positions and p; the canonical momenta, and H is the hamiltonian of the system. The
expectation value of the internal energy U is

1
U=(H) =+ H/H(Phqi) exp(—BH(pi, 91)) dpi da, (2.68)
which can be calculated from the partition sum:
_ 19z (2.69)
B 9B

For degrees of freedom that enter the hamiltonian as quadratic terms H = 3~,(Aig? + Bip?) (for example
H=5-(p2 + p2 + p2)),

e’} oo

Z= H / exp (—BAiq,-z) da; / exp(—3Bip?) dpi = H \/Z\/; (2.70)

I —co —o0




Since - - :
T — kT VA,B (2.71)
BoB\ BA 28 2

the total infernal energy is %NkT for each degree of freedom that enters quadratically into the hamiltonian. This is the
equipartition theorem.

How many degrees of freedom does dry air have? At the 99% level, air is a diatomic gas (N2, O). A diatomic molecule
has three translational

1
Hirans = 7(P,2( + P}Q/ + Pg)
2m

two rotational
— L he? 4 b
Heot = 2(/]0.;1 + hwj)

and one vibrational :
Hyp = EkAX?

degrees of freedom. Although the energy levels are quantized, the translational and rotational energy levels are closely
enough spaced that the classical continuum limit is valid. The vibrational energy levels are much higher than atmospheric
temperatures [O(10%) K]; the vibrational degree of freedom contributes negligibly to the internal energy.

Therefore,

5 du 5
U=2NKkT and o = () =2¢ 272
g NkT and ¢ (ar)v 29 (2.72)



3 — Ocean

1. Introduction

2. Atmosphere

3. Ocean

3.1 Description of the ocean

3.2 Surface circulation

3.3 Exchange processes of the ocean with atmosphere, land
and cryosphere

4. Land, biosphere, cryosphere

5. The climate system

6. Internal variability Reference
> Peixoto and Oort, Sec. 3.1, 3.2, 3.4, 3.5 (but skip the
7. Forcing and feedbacks — guest lecture by Karo Block discussion of oceans until next week); Ch. 10

» Stewart 2008 (linked from web page), Ch. 3-4, 6-12
8. Anthropogenic climate change


http://oceanworld.tamu.edu/resources/ocng_textbook/contents.html

Figure: SIO



3.1 - Description of the ocean
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ISLAND ARC

Three oceans (Atlantic, Pacific,
Indian) with marginal seas (but
these are often called “ocean”
as well, e.g., Southern Ocean,
Arctic Ocean)

Circumpolar in the Southern
Ocean. Elsewhere, zonal flow
is blocked by continents

Subsurface orography:
continental shelves, deep
ocean, ridges, trenches; ridges
separate oceanic basins,
seamounts generate turbulence
and vertical mixing

Energy sources: wind, heat
fluxes, tides



Vertical structure

> Light absorption — albedo < 10%, absorption within the first 100 m:
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> Heating at the top leads to stable stratification
> Thermocline/pycnocline forms the bottom of the mixed layer — seasonal and permanent
» Density profiles determine buoyancy and therefore stability — p = p(p, T, S), and

p— 1000 kg m™3 ~ 27 £ 2 kg m 3, so high precision is needed

> pincreases with S, decreases with T and (weakly) increases with p

Figure: Stewart 2008
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Vertical structure

Light absorption — albedo < 10%, absorption within the first 100 m
» Heating at the top leads to stable stratification

Thermocline/pycnocline forms the bottom of the mixed layer — seasonal and permanent
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» Density profiles determine buoyancy and therefore stability — p = p(p, T, S), and
p— 1000 kg m™3 & 27 + 2 kg m 3, so high precision is needed

> pincreases with S, decreases with T and (weakly) increases with p

Figure: Argo



Vertical structure

Depth [m]

> Light absorption — albedo < 10%, absorption within the first 100 m
> Heating at the top leads to stable stratification
» Thermocline/pycnocline forms the bottom of the mixed layer — seasonal and permanent
» Density profiles determine buoyancy and therefore stability — p = p(p, T, S), and
p— 1000 kg m~3 & 27 & 2 kg m 3, so high precision is needed
> pincreases with S, decreases with T and (weakly) increases with p
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3.2 — Surface circulation

Primitive equations

Like the atmosphere, the ocean is a continuous medium and satisfies conservation of mass, momentum and energy. Unlike
the atmosphere, the ocean is very nearly incompressible.

0 0 0
a + ad + Y _o continuity equation, incompressible (3.1)
Ox 0Oy 0z
du 10p . . _
=24+ HN+F=x=0 u-momentum equation, geostrophic + friction (3.2)
dt p Ox
d 10
LA F,~0 v—-momentum equation, geostrophic + friction (3.3)
dt p Oy
d 10
v __19% _ g=~0 z-momentum equation, geostrophic (3.4)
dt p Oz

z is (close to) zero at the surface and decreases downward.

Scale analysis
Horizontal and vertical velocities both two orders of magnitude smaller than in the atmosphere. Geostrophy is a strong
constraint in much of the ocean because Ro ~ 1073 <« 1 (except very near the equator).

» Forces are gravity (tides), buoyancy (due to density differences), wind stress

» Dominant terms in the equation of motion are pressure gradient, Coriolis and friction (wind stress)



Surface circulation is mostly wind-driven

Phenomena that result from wind stress at the ocean surface:
> Inertial currents are the response of the ocean to a transient wind forcing
» Ekman transport describes horizontal and vertical motion in the mixed layer in response to a steady-state wind forcing
» Sverdrup transport describes the zonal interior ocean response to Ekman forcing at the surface

> Western boundary current intensification is a departure from symmetric gyres to form narrow, fast currents



Summary of the surface currents
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Inertial currents

Inertial currents are excited by a transient wind stress. After the wind stress ceases, the entire mixed layer of the ocean
rotates uniformly (“slab ocean”) at the inertial frequency f
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Ekman layer

How does the ocean surface respond to a non-ransient wind? Instead of a fluid element at the ocean surface, think of the
force balance on an iceberg floating on the ocean:

Coriolis

Wind
Wind Velocity of Drag
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w All forces about equal
Coriolis
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Cc Wind Drag
F
o Coriolis
Drag (Friction) Force

Weak Coriolis force

Figure: Stewart 2008



Ekman spiral

Consider a steady-state homogeneous ocean:
0 0 0

ot ox By
Under these conditions, the equation of motion reduces to a balance between the Coriolis force and wind friction at the
ocean surface (the stress acts along the wind direction):

10T, 0%

(3.5)

fv=—F = =-A,— x-momentum equation, eddy viscosity friction (3.6)
p Oz 0z?
10Ty, 82
—fu=—-F=—-2 = A2y y-momentum equation, eddy viscosity friction (3.7)
p Oz 0z2
This system of equations has the Ekman spiral solution, here in the case of a southerly wind:
™
ug = Vo exp(az) cos (Z + az) (3.8)
ve = Vo exp(az) sin (% + CIZ) (3.9)
where
T 7-107%U
Vo = ~ - 10 current at sea surface (3.10)
p2fA, \/sin | @]
[ f
a=4\/72 rotation of the current with depth, ~ reciprocal of Ekman layer depth (3.11)

The surface current is rotated /4 = 45° to the right (northern hemisphere) or left (southern hemisphere) of the wind.



